	CIS 0083 - 2 Quiz #8

	Name:


	SSN (last 4 digits only):


	(1 point) 

An array ALWAYS contains

· Objects

· primitive types

· either objects or a primitive type

· a mix of objects and primitive types

	(1 point)
A Vector ALWAYS contains

· Objects

· primitive types

· either objects or a primitive type

· a mix of objects and primitive types



	(1.5 points) 

A Vector is provided in JAVA since

· it offers a total new functionality to the language. Arrays alone wouldn't be sufficient for many problems.

· it is more convenient in many cases. With some additional programming effort every Vector could be replaced by an array.

· it is more efficient than an array in terms of speed.

	(2 points) 

What's wrong in line 3  (suppose the framework, i.e. method definitions, imports etc. to be correctly given) ?

1 int i=3;

2 Vector v=new Vector();

3 v.addElement(i);



	(3 points) 

Write a program that creates a Vector containing 3 Strings: "The Snapple caps" , "do NOT", "necessarily tell the truth." 

(use backside)



	(1.5 points) 

The input argument of Vector.addElement is 'Object'. This means:

· Each element that is put into a Vector has to be casted to 'Object' explicitely

· Every object can be put into a Vector, since all classes in Java a derived from 'Object'

· only classes provided by Java can be used as input, own classes must be converted using 'wrapper classes'


